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3

4
 xU gpd;dkhFk;. mJ Xu; myifr; rkdhd ehd;F gFjpfshf

tFj;J mtw;Ws; %d;W gFjpfis vLj;jy; my;yJ %d;W nghUs;fis

ehd;F NgupilNa gq;fpl;L xUtu; ngWk; gFjpia vLj;jy; MFk;.

,jw;Nfw;g

 Xu; myifr; rkdhd ehd;F gq;Ffshf tFj;J

mtw;Ws; x gq;Ffis vLj;jy;

 Xu; myif rkdhd x gq;Ffshf tFj;J mtw;Ws;

ehd;F gq;Ffis vLj;jy;

 Xu; myif rkdhd x gq;Ffshf tFj;J mtw;Ws;

y  gq;Ffis vLj;jy;

vdf; fhl;lyhk;.

MapDk; ,it 
3

4
 Ig; Nghy vz; ngWkhdj;ijf; fhl;Lk; gpd;dq;fs;

my;y vd;gjhy; epiyahd ngWkhdj;ijf; fhl;lhj gpd;dq;fshFk;.

,jw;Ff; fhuzk; ,tw;wpy; x, y Nghd;w ngWkhdk; njupahj ml;ruq;fs;

mlq;fpapUg;gjhFk;.

njhFjpapy; my;yJ gFjpapy; my;yJ ,uz;bYk; ml;ruj;ijf;

nfhz;Ls;s Nkw;Fwpj;jthwhd gpd;dq;fs; ml;rufzpjg; gpd;dq;fsml;rufzpjg; gpd;dq;fsml;rufzpjg; gpd;dq;fsml;rufzpjg; gpd;dq;fsml;rufzpjg; gpd;dq;fs;
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y

x

x
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 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;

 ml;rufzpjg; gpd;dq;fis mwpe;J nfhs;sy;
 gFjp vz; rkdhfTs;s ml;rufzpjg; gpd;dq;fisf; $l;ly;
 gFjp vz; rkdhfTs;s ml;rufzpjg; gpd;dq;fisf; fopj;jy;

vd;Dk; Nju;r;rpfis miltPu;fs;.

25
ml;rufzpjg; gpd;dq;fs;ml;rufzpjg; gpd;dq;fs;ml;rufzpjg; gpd;dq;fs;ml;rufzpjg; gpd;dq;fs;ml;rufzpjg; gpd;dq;fs;

     25.1 ml;rufzpjg; gpd;dq;fs;25.1 ml;rufzpjg; gpd;dq;fs;25.1 ml;rufzpjg; gpd;dq;fs;25.1 ml;rufzpjg; gpd;dq;fs;25.1 ml;rufzpjg; gpd;dq;fs;

3
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Xu; myifr; rkdhd ehd;F
gq;Ffshf tFj;J mtw;Ws; %d;W
gq;Ffis vLj;jy;

%d;W nghUs; ;fis ehd;F
NgupilNa gq;fpLk;NghJ xUtu;
ngWk; gq;F
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gapw;rp 25.1gapw;rp 25.1gapw;rp 25.1gapw;rp 25.1gapw;rp 25.1

vdg;gLk;. Xu; ml;rufzpjg; gpd;dj;jpy; gFjpapy; my;yJ njhFjpapy;

my;yJ ,uz;bYk; ml;rufzpj cWg;nghd;W my;yJ ml;rufzpjf;

Nfhitnahd;W  ,Uf;f Ntz;Lk;. Xu; ml;ruj;ijf; nfhz;l cWg;G

ml;rufzpj cWg;ghtJld; Xu; ml;rufzpj cWg;G ,d;Ndhu; ml;ru

fzpj cWg;Gld; my;yJ vz;fSld; + my;yJ − FwpaPLfspdhy;
njhlu;GgLj;jg;gLk;NghJ ml;rufzpjf; Nfhitfs; cUthFk;.

(i) gFjpapy; ml;rufzpj cWg;igAila ml;rufzpjg; gpd;dnkhd;iw

vOJf.

(ii) njhFjpapy ; ml;rufzpj cWg;igAila ml;rufzpjg ;

gpd;dnkhd;iw vOJf.

(i)
5

a
(ii)

p

2

(i) gFjpapy; ml;rufzpjf; Nfhitnahd;iwAila ml;rufzpjg;

gpd;dnkhd;iw vOJf.

(ii) njhFjpapy; ml;rufzpjf; Nfhitnahd;iwAila ml;rufzpjg;

gpd;dnkhd;iw vOJf.

(i)
2

a + 2
(ii)

a + 3

5

gFjpapYk; njhFjpapYk; ml;rufzpj cWg;ig my;yJ ml;ru fzpjf;

Nfhitiaf; nfhz;l ehd;F ml;rufzpjg; gpd;dq;fis vOJf.

(i) 
a
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a+ 2 (iii) 
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a − (iv) 
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x y
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1. gpd;tUk; gpd;dq;fspy; ml;rufzpjg; gpd;dq;fisj; njupe;njLj;J vOJf.
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2. njhFjp vz; a MfTs;s %d;W ml;rufzpjg; gpd;dq;fis vOJf.

cjhuzk; 25.1cjhuzk; 25.1cjhuzk; 25.1cjhuzk; 25.1cjhuzk; 25.1

cjhuzk; 25.2cjhuzk; 25.2cjhuzk; 25.2cjhuzk; 25.2cjhuzk; 25.2

cjhuzk; 25.3cjhuzk; 25.3cjhuzk; 25.3cjhuzk; 25.3cjhuzk; 25.3
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3. gFjp vz; x MfTs;s %d;W ml;rufzpjg; gpd;dq;fis vOJf.

4. gFjp vz;zpy; x ,yhd ml;rufzpjf; Nfhitiaf; nfhz;l %d;W

ml;rufzpjg; gpd;dq;fis vOJf.

5. njhFjp vz;zpy; a ,yhd ml;rufzpjf; Nfhitiaf; nfhz;l %d;W

ml;rufzpjg; gpd;dq;fis vOJf.

;; ;; ;

vspa gpd;dq;fisf; $l;ly;> fopj;jy; vd;gtw;wpd;NghJ cgNahfpj;j tpjpfisg;

gpuNahfpj;J ml;rufzpjg; gpd;dq;fisf; $l;ly;> fopj;jy; vd;gd nra;ag;gLk;.
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cjhuzk; 25.4cjhuzk; 25.4cjhuzk; 25.4cjhuzk; 25.4cjhuzk; 25.4

cjhuzk; 25.6cjhuzk; 25.6cjhuzk; 25.6cjhuzk; 25.6cjhuzk; 25.6

     25.225.225.225.225.2 rkdhd vz; ngWkhdq;fisg; gFjpfspy; nfhz;lrkdhd vz; ngWkhdq;fisg; gFjpfspy; nfhz;lrkdhd vz; ngWkhdq;fisg; gFjpfspy; nfhz;lrkdhd vz; ngWkhdq;fisg; gFjpfspy; nfhz;lrkdhd vz; ngWkhdq;fisg; gFjpfspy; nfhz;l
ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;

cjhuzk; 25.7cjhuzk; 25.7cjhuzk; 25.7cjhuzk; 25.7cjhuzk; 25.7

cjhuzk; 25.5cjhuzk; 25.5cjhuzk; 25.5cjhuzk; 25.5cjhuzk; 25.5
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gapw;rp 25.3gapw;rp 25.3gapw;rp 25.3gapw;rp 25.3gapw;rp 25.3

gapw;rp 25.2gapw;rp 25.2gapw;rp 25.2gapw;rp 25.2gapw;rp 25.2

fPNo jug;gl;Ls;s ml;ru fzpjg; gpd;dq;fis ,ad;w tiu RUf;Ff.
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fPNo jug;gl;Ls;s ml;rufzpjg; gpd;dq;fis ,ad;wtiu RUf;Ff.
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25.3 gFjp vz;zpy; rkdhd ml;rufzpj cWg;igf; nfhz;l ml;ru25.3 gFjp vz;zpy; rkdhd ml;rufzpj cWg;igf; nfhz;l ml;ru25.3 gFjp vz;zpy; rkdhd ml;rufzpj cWg;igf; nfhz;l ml;ru25.3 gFjp vz;zpy; rkdhd ml;rufzpj cWg;igf; nfhz;l ml;ru25.3 gFjp vz;zpy; rkdhd ml;rufzpj cWg;igf; nfhz;l ml;ru

fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYkfzpjg; gpd;dq;fisf; $l;lYk; fopj;jYkfzpjg; gpd;dq;fisf; $l;lYk; fopj;jYkfzpjg; gpd;dq;fisf; $l;lYk; fopj;jYkfzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk ;; ;; ;

cjhuzk; 25.8cjhuzk; 25.8cjhuzk; 25.8cjhuzk; 25.8cjhuzk; 25.8 cjhuzk; 25.9cjhuzk; 25.9cjhuzk; 25.9cjhuzk; 25.9cjhuzk; 25.9 cjhuzk; 25.10cjhuzk; 25.10cjhuzk; 25.10cjhuzk; 25.10cjhuzk; 25.10



,ytr  tpepNahfj;jpw;fhf,ytr  tpepNahfj;jpw;fhf,ytr  tpepNahfj;jpw;fhf,ytr  tpepNahfj;jpw;fhf,ytr  tpepNahfj;jpw;fhf 111
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cjhuzk; 25.11cjhuzk; 25.11cjhuzk; 25.11cjhuzk; 25.11cjhuzk; 25.11 cjhuzk; 25.12cjhuzk; 25.12cjhuzk; 25.12cjhuzk; 25.12cjhuzk; 25.12

cjhuzk; 25.13cjhuzk; 25.13cjhuzk; 25.13cjhuzk; 25.13cjhuzk; 25.13

25.425.425.425.425.4 gFjpapy; rkdhd ml;ru fzpjf; Nfhitfisf; nfhz;lgFjpapy; rkdhd ml;ru fzpjf; Nfhitfisf; nfhz;lgFjpapy; rkdhd ml;ru fzpjf; Nfhitfisf; nfhz;lgFjpapy; rkdhd ml;ru fzpjf; Nfhitfisf; nfhz;lgFjpapy; rkdhd ml;ru fzpjf; Nfhitfisf; nfhz;l
ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;ml;ru fzpjg; gpd;dq;fisf; $l;lYk; fopj;jYk;
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gapw;rp 25.4gapw;rp 25.4gapw;rp 25.4gapw;rp 25.4gapw;rp 25.4

RUf;Ff.
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 25.5 25.5 25.5 25.5 25.5 gFjpapy; rkdhd vz;izAk; njhFjpapy; ml;rufzpjf;gFjpapy; rkdhd vz;izAk; njhFjpapy; ml;rufzpjf;gFjpapy; rkdhd vz;izAk; njhFjpapy; ml;rufzpjf;gFjpapy; rkdhd vz;izAk; njhFjpapy; ml;rufzpjf;gFjpapy; rkdhd vz;izAk; njhFjpapy; ml;rufzpjf;
NfhitiaAk; nfhz;l ml;rufzpjg; gpd;dq;fisf; $l;lYk;NfhitiaAk; nfhz;l ml;rufzpjg; gpd;dq;fisf; $l;lYk;NfhitiaAk; nfhz;l ml;rufzpjg; gpd;dq;fisf; $l;lYk;NfhitiaAk; nfhz;l ml;rufzpjg; gpd;dq;fisf; $l;lYk;NfhitiaAk; nfhz;l ml;rufzpjg; gpd;dq;fisf; $l;lYk;
fopj;jYk;fopj;jYk;fopj;jYk;fopj;jYk;fopj;jYk;

cjhuzk; 25.16cjhuzk; 25.16cjhuzk; 25.16cjhuzk; 25.16cjhuzk; 25.16

cjhuzk; 25.15cjhuzk; 25.15cjhuzk; 25.15cjhuzk; 25.15cjhuzk; 25.15cjhuzk; 25.14cjhuzk; 25.14cjhuzk; 25.14cjhuzk; 25.14cjhuzk; 25.14
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gapw;rp 25.5gapw;rp 25.5gapw;rp 25.5gapw;rp 25.5gapw;rp 25.5
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ntspNaAs;s −1 ,dhy; ngUf;Fjy;)


